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The figures in the margin indicate full marks
for the questions o
1. Answer as directed : 1x8=8
Defiiie finite automata.
Write one difference between NFA and
DFA. :
() The grammar
G={N, T, P, S}
N={S, A B}

T={q b c}
p:S—aSa, S—aAa, A — bB,

B—-bB,B-C
() is type 3

@
()
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(3)
(2 ) . set
te the
to genera 3
(c) Write the Cl:lG:pand p=1}.
@ is type 2 byt no; type 3 {a™b"cP |m+
(i) is type ; but net type 2 that the grammar
(iv) is tYPe 0 but not type 1 ¢ G =S —asS
(Choose the Correct option) [sive )
is recu ’
(@ Which of g, following Strings is not { ° . e recognized by
8enerateq by the given grammar? Determine the lalti‘:agto n
S— SaSbS|e 8. (a) the finite-state au o
O aapp 1 3 5
(i) abap 0 (=)
(i) aabapy, , ed state
) aaapp with reducec =
t a DFA lar expres 5
(Choose the Correct option) ®) Cons:;:;t to the regu .
“« uiV
(e) .Ctontext~free grammay i closed under fg +0+110*1 ote on Chomsky s
Intersection » hort n
ite a S e.
(State True or False) (c) v;mtseiﬁcation of languag
. ‘ as
7] Recursjye language S — of CpL, © or sion to the
- Fill in the bigny ¢ a regular expres
. L - truc
(9)' glﬁuag Lis accepteg by an Fsa i it Conssition diagram
. tran
(Fill i the p) k)
) efine Pushdowry, automatgy y
2. Cong ct :
DFa o
exp ession, aa* e the regular 3
) State PUmping lemmg for Cpg 3
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(4)
4 (a) Explai
laln mmlnuza
in brief tion of finite automata
b) If Gi
S the gramm
. ar
o that G is ambigyeyg S SbS|a, show
¢ Explai .
lan laln the C].Osln-e pro .
guages Perties of regular
Or
Whether the language
L= ggn? £¢ given by
15
Show
consis"tiﬁ:;tosfet of all stringg
'S is over
Sis ac(;epte d n bel"s of o {as b} _
®) Consiq by deterministic C;) s and ’
er the f°“°W1ng DA
S>aB|py Productiong
For ~bs IQBB | b
leftmg tring
St depiv.  22abb
() Fing Crivation, abbba, fing a
. ¢ a deriVaﬁOn tre 5
. axp e of \
Elven by Tarb is i L(a*b"'a*bgiven
» Where G is
>SS ,
P +S
15~1200/75 I+8 85 o ;
( COntinued’
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(5)

Or

Explain in detail about equivalence of
pushdown automata and CFG. 15
age L is accepted by

(a) Prove that a langu
only if L is accepted

some e-NFA if and
by some DFA.

Construct the regular expression from

(b)
the following transition diagram :.

finite state machine M given in
owing table, test whether the
11111 are accepted

For the

the foll
strings 101101 and

by M:

(c)

Input

1
Q

q0

I

K]
_/—-—

"(mmOvér)
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(6)

Or

_Construct a minimum-state automaton
_ equivalent to a given automaton M whose
transition table is given below :

Input
State a b
— do 0 a3
il V) qs
d2 a3 q4
q3 90 gs
d4 . 99 e
95 aQ q4
% a3

* k %
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